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Question Paper Code : 1056
B.A. (Part-I) Examination, 2018

ECONOMICS
[ First Paper ]

( Micro Economics )
Time : Three Hours] [Maximum Marks : 50

Note : Answer five questions in all. Question No. 1 is
compulsory. Besides this, attempt one question from
each unit. Maximum marks for each question are shown
in the right margin.
dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la- 1 vfuok;Z gSA blds

vykok] izR;sd bdkbZ ls ,d iz'u dk mÙkj nhft,A izR;sd iz'u

ds vf/kdre vad nkfgus gkf'k;s esa n'kkZ;s x, gSaA

1. Explain the following in brief (not more than 100
words) :  [2x10=20]
fuEufyf[kr dh laf{kIr O;k[;k dhft, ¼100 'kCnksa ls vf/kd

ugha½ %

(a) Why indifference curve will be convex to the
origin ?

[P.T.O.]
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mnklhurk oØ ewy fcUnq ls mUurksnj D;ksa gksxh \

(b) Income elasticity of demand.
ek¡x dh vk; ykspA

(c) Marginal rate of technical substitution.
rduhdh izfrLFkkiu dh lhekUr njA

(d) Difference between Short-term Production
function and Long-term Production function.
vYidkyhu mRiknu Qyu ,oa nh?kZdkyhu mRiknu Qyu

esa vUrjA

(e) Relationship between Marginal cost and Average
cost.
lhekUr ykxr ,oa vkSlr ykxr esa lEcU/kA

(f) Why a firm earn only normal profit in the long-run
under the perfect competition ?
iw.kZ izfr;ksfxrk ds vUrxZr ,d QeZ nh?kZdky esa lkekU;

ykHk gh D;ksa vftZr djrh gS \

(g) Essential conditions for the success of Price
discrimination.
dher foHksn dh lQyrk dh vfuok;Z 'krsZaA
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(h) Motives of the liquidity preference.
rjyrk ilUnxh ds mís';A

(i) Insurable and Non-insurable risks.
chek ;ksX; ,oa xSj&chek ;ksX; tksf[kesaA

(j) Quasi rent
vkHkkl yxku

UNIT-I @ bdkbZ&I

2. Explain the equilibrium of a consumer with the help of
indifference curve technique. [8]
mnklhurk oØ rduhd dh lgk;rk esa ,d miHkksäk ds lUrqyu

dh O;k[;k dhft,A

3. Define price elasticity of Demand. Differentiate Point
elasticity and Arc elasticity of Demand and explain
methods to measure them. [8]
ek¡x dh dher yksp dks ifjHkkf"kr dhft,A ek¡x dh fcUnq yksp

,oa pki yksp esa vUrj dhft,A mUgsa ekius dh fof/k;k¡

le>kb,A

[P.T.O.]
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UNIT-II @ bdkbZ&II
4. Explain the nature and shape of Long-run Average Cost

Curve. Why it is known as a envelope curve ? [8]
nh?kZdkyhu vkSlr ykxr oØ dh izÑfr ,oa lajpuk dks le>kb,A

bls vkoj.k oØ D;ksa dgk tkrk gS \

5. Explain the equilibrium of a producer with the help of
iso-product curves technique.  [8]
leksRikn oØksa dh rduhd dh lgk;rk ls ,d mRiknd ds

lUrqyu dh O;k[;k dhft,A

UNIT-III @ bdkbZ&III
6. "In the case of the perfect competition, a firm not

determines the price but accept the market price to
determine equilibrium level of output." Explain the above
statement and discuss equilibrium of the firm under
perfect competition. [7]
^^iw.kZ izfr;ksfxrk dh fLFkfr esa ,d QeZ dher fu/kkZfjr ugha

djrh oju~ cktkj dher Lohdkj djrh gS lUrqfyr mRiknu

Lrj ds fu/kkZj.k ds fy,A** mi;qZä dFku dks le>kb, rFkk iw.kZ

izfr;ksfxrk ds vUrxZr QeZ ds lUrqyu dh ifjppkZ dhft,A

1056/7000 (  5  )

7. What do you mean by Monopolistic Competition ? Explain
the equilibrium of a firm under monopolistic competition
in the short and long-run. [7]
,dkf/kdkfjd izfr;ksfxrk ls vki D;k le>rs gSa \ ,dkf/kdkfjd

izfr;ksfxrk ds vUrxZr ,d QeZ ds vYidkyhu ,oa nh?kZdkyhu

lUrqyu dks le>kb,A

UNIT-IV @ bdkbZ&IV
8. Critically examine the liquidity preference theory of

Interest. [7]
C;kt ds rjyrk vf/keku fl)kUr dk vkykspukRed ijh{k.k

dhft,A

9. Critically explain the Marginal Productivity Theory of
Wages. [7]
etnwjh ds lhekUr mRikndrk fl)kUr dh vkykspukRed O;k[;k

dhft,A

----- x -----
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Question Paper Code : 1057
B.A. (Part-I) Examination, 2018

ECONOMICS
[ Second Paper ]

( Indian Economic Problems )
Time : Three Hours] [Maximum Marks : 50
Note : Answer five questions in all. Question No. 1 is

compulsory. Besides this, attempt one question from
each unit. Maximum marks for each question are shown
in the right margin.
dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la- 1 vfuok;Z gSA blds

vykok] izR;sd bdkbZ ls ,d iz'u dk mÙkj nhft,A izR;sd iz'u

ds vf/kdre vad nkfgus gkf'k;s esa n'kkZ;s x, gSaA

1. Write short notes on the following : [2x10=20]
fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(a) Population Explosion
tula[;k foLQksV

(b) Vicious circle of Poverty
xjhch dk nq"pØ [P.T.O.]1057/7000 (  4  )

UNIT-III @ bdkbZ&III
6. Briefly outline the basic Industrial Policy of 1956 and

discuss the major changes introduced in it by the
Industrial Policy of 1991. [7]
la{ksi esa 1956 dh vkS|ksfxd uhfr dh :ijs[kk crkb, rFkk bl
uhfr esa 1991 dh vkS|ksfxd uhfr }kjk fd;s x, eq[; cnykoksa
dh leh{kk dhft,A

7. Discuss the alternative methods of Industrial Finance in
India and highlight the importance of each method in
promoting industrial development of the country. [7]
Hkkjr esa vkS|ksfxd foÙk dh oSdfYid fof/k;ksa dh ppkZ dhft,
rFkk vkS|ksfxd fodkl dks c<+kus esa izR;sd fof/k dh Hkwfedk dks
Li"V dhft,A

UNIT-IV @ bdkbZ&IV
8. Examine the role of agriculture and its allied sectors in

development of U.P. Economy. [7]
m-iz- dh vFkZO;oLFkk ds fodkl esa Ñf"k ,oa blds lgk;d {ks=ksa
dh Hkwfedk dh O;k[;k dhft,A

9. Discuss the Industrial Policy of U.P. Government. [7]
m-iz- ljdkj dh vkS|ksfxd uhfr dh O;k[;k dhft,A

----- x -----
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(c) MNAREGA and Rural Employment
eujsxk ,oa xzkeh.k jkstxkj

(d) Privatisation in India
Hkkjr esa futhdj.k

(e) Ceiling on land-holding
Hkw&pdcUnh

(f) Role of women in economic development
vkfFkZd fodkl esa efgykvksa dh Hkwfedk

(g) Problems of Rural Labour in India
Hkkjr esa xzkeh.k Jfedksa dh leL;k,¡

(h) Minimum support price of Agricultural
Commodities
Ñf"k oLrqvksa dk U;wure leFkZu ewY;

(i) Trade Union in India
Hkkjr esa Je laxBu

(j) Impact of Globalisation on Indian Economy
Hkkjrh; vFkZO;oLFkk ij mnkjhdj.k dk izHkko
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UNIT-I @ bdkbZ&I
2. Discuss the main characteristics of Indian Economy.[8]

Hkkjrh; vFkZO;oLFkk dh izeq[k fo'ks"krkvksa dh O;k[;k dhft,A

3. Elucidate that economic development is adversely
affecting the conservation of natural resources in India.

[8]
vkfFkZd fodkl Hkkjr esa izkÑfrd lalk/kuksa ds laj{k.k dks

udkjkRed :i ls izHkkfor dj jgk gSA foospuk dhft,A

UNIT-II @ bdkbZ&II
4. Discuss the problems of agricultural marketing in India

and outline the measures taken by the government to
improve agricultural marketing. [8]
Hkkjr esa Ñf"k foi.ku dh D;k leL;k,¡ gSa \ ljdkj }kjk Ñf"k

foi.ku esa lq/kkj ykus ds fy, D;k iz;kl fd;s x, gSa \

5. Discuss the impact of Green Revolution on agricultural
production and productivity in India. [8]
Hkkjr esa Ñf"k mRiknu ,oa mRikndrk ij gfjr ØkfUr ds izHkkoksa

dh O;k[;k dhft,A

[P.T.O.]



1058/6000 (  1  )

Question Paper Code : 1058
B.A. (Part-II) Examination, 2018

ECONOMICS
[ First Paper ]

( Macro Economics )
Time : Three Hours] [Maximum Marks : 50

Note : Answer five questions in all. Question No.1 is
compulsory. Besides this, one question is to be
attempted from each unit. ie. long answers (400-500
words).

uksV % dqy ik¡p iz'uksa ds mÙkj nhft,A izFke iz'u vfuok;Z gSA blds

vykok] izR;sd bdkbZ ls ,d iz'u fd;k tkuk gSA mRrj 400-
500 'kCnksa esaA

1. Write short notes on the following (50-100 words) :
[2x10=20]

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, ¼50-100 'kCnksa esa½ %
(a) Determination of Effective Demand

izHkkoiw.kZ ek¡x dk fu/kkZj.k

[P.T.O.]
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(b) Average Propensity to Consume (APC) and
Average Propensity to Save (APS)
vkSlr miHkksx izo`fÙk ,oa vkSlr cpr izo`fÙk

(c) Differentiate between cash credit and overdraft
udn lk[k rFkk vksojMªk¶V esa vUrj dhft,A

(d) Relation between discount rate and market rate
dVkSrh nj vkSj cktkj nj esa lEcU/k

(e) Transitory Income
vkdfLed vk;

(f) Cambridge Equation of Quantity Theory of Money.
eqnzk ifjek.k fl)kUr dk dSfEczt lehdj.k

(g) Real and nominal rate of interest
okLrfod rFkk lkadsfrd C;kt nj

(h) Multiplier Effect
xq.kd izHkko
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(i) Two-sector model of Circular Flow of Income
vk; ds pØh; izokg dk f}{ks=h; ekWMy

(j) Gross Capital Formation
ldy iw¡th fuekZ.k

UNIT-I @ bdkbZ&I
2. Explain the production, expenditure and income methods

of the measurement of National Income. [7]
jk"Vªh; vk; ds ekiu dh mRiknu] O;; rFkk vk; Hkqxrku

fof/k;ksa dks le>kb,A

3. Explain the Classical theory of employment. On what
grounds was it challenged by Keynes ? [7]
jkstxkj ds izfrf"Br fl)kUr dh O;k[;k dhft,A dhUl us fdu

vk/kkjksa ij bls pqukSrh nh gS \

UNIT-II @ bdkbZ&II
4. Explain the concept of Multiplier. How is it related to

Marginal Propensity to Consume (MPC) ? [7]
xq.kd dh vo/kkj.kk dh foospuk dhft,A bldk lhekUr miHkksx

izo`fÙk ls D;k lEcU/k gS \
[P.T.O.]
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5. What is IS curve ? What factors determine the shape
and shifts in IS curve ? [7]
IS oØ D;k gS \ fdu fu/kkZjdksa }kjk IS oØ dk vkdkj rFkk

foorZu fu/kkZfjr gksrk gS \

UNIT-III @ bdkbZ&III
6. Differentiate between Autonomous and Induced

Investment. What are the determinants of Induced
Investment ? [8]
Lok;Ùk ,oa izsfjr fofu;ksx esa foHksn dhft,A izsfjr fofu;ksx ds

fu/kkZjd rRo D;k gaS \

7. Discuss multiplier and Accelerator interaction in
explaining cyclical fluctuations in the economy. [8]
Li"V dhft, fd dSls xq.kd&Rojd vUrfØZ;k vFkZO;oLFkk esa gksus

okys pØh; mPpkopuksa dks crkrh gSA

UNIT-IV @ bdkbZ&IV
8. Explain the objectives and methods of Credit Control

Policy of Reserve Bank of India. [8]
Hkkjrh; fjtoZ cSad dh lk[k fu;a=.k uhfr ds mn~ns'; ,oa

fof/k;ksa dh O;k[;k dhft,A
1058/6000 (  5  )

9. Distinguish between Stagflation and Inflation. Suggest
measures to control inflation. [8]
fuLiUn&LQhfr ,oa eqnzk&LQhfr esa vUrj dhft,A eqnzk&LQhfr dks

fu;fU=r djus ds mik; lq>kb,A

----- x -----
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Question Paper Code : 1059
B.A. (Part-II) Examination, 2018

ECONOMICS
[ Second Paper ]

( Public Finance & International Trade )
Time : Three Hours] [Maximum Marks : 50
Note : Answer five questions in all. Question No. 1 is

compulsory. Besides this, attempt one question from
each unit. Maximum marks for each question are shown
in the right margin.
dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la- 1 vfuok;Z gSA blds

vykok] izR;sd bdkbZ ls ,d iz'u dk mÙkj nhft,A izR;sd iz'u

ds vf/kdre vad nkfgus gkf'k;s esa n'kkZ;s x, gSaA

1. Explain briefly the following : [2x10=20]
fuEufyf[kr ds laf{kIr mÙkj nhft, %

(a) Merit goods
;ksX;rk oLrq,¡

(b) Fiscal Deficit
jktdks"kh; ?kkVk [P.T.O.]1059/6000 (  4  )

its advanatages and disadvantages for the Indian
Economy. [7]
oLrq ,oa lsok dj ¼th-,l-Vh-½ dks le>kb, ,oa mlds Hkkjrh;

vFkZO;oLFkk ij iM+us okys Qk;ns ,oa gkfu dks Li"V dhft,A

7. Explain the sources of revenue of Central and State
Governments. What is the role of Finance Commission
in distribution of revenue between Centre and State ?[7]
dsUnzh; ,oa jkT; ljdkjksa dh vk; ds lk/kuksa dks le>kb,A dsUnz

,oa jkT; ljdkjksa ds chp vk; ds forj.k eas foÙk vk;ksx dh

D;k Hkwfedk gS \

UNIT-IV @ bdkbZ&IV
8. Explain the Tariff and Non-tariff barriers regarding

international trade. [7]
vUrjkZ"Vªh; O;kikj ds lUnHkZ esa iz'kqYd ,oa xSj&iz'kqYd vojks/kksa

dks le>kb,A

9. Explain the role of reciprocal demand in the
determination of terms of trade. [7]
O;kikj dh 'krksZa ds fu/kkZj.k esa ikjLifjd ek¡x fl)kUr dh

Hkwfedk dks le>kb,A

----- x -----



1059/6000 (  2  )

(c) Indirect tax and Direct tax
vizR;{k dj ,oa izR;{k dj

(d) Tax Incidence
djk?kkr

(e) Wagner's law
oSxuj dk dkuwu

(f) Commodity terms of Trade
oLrq dh O;kikj dh 'krsZa

(g) Comparative advantage theory of trade
O;kikj dk rqyukRed ykHk dk fl)kUr

(h) Laffer curve
ySQj oØ

(i) Balance of Payments
Hkqxrku lUrqyu

(j) Current Account Deficit
pkyw [kkrk ?kkVk
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UNIT-I @ bdkbZ&I
2. Explain the principle of maximum social advantage. What

is its relevance in a developing country like India ? [8]
vf/kdre lkekftd ykHk fl)kUr dks le>kb,A Hkkjr tSls

fodflr gksrs ns'k esa bldh D;k izklafxdrk gS \

3. Explain the ability-to-Pay approach. What are its main
drawbacks ? [8]
djns; ;ksX;rk dk fl)kUr le>kb,A bl fl)kUr dh eq[;

dfe;k¡ crkb,A

UNIT-II @ bdkbZ&II
4. What is the effect of public expenditure on production ?

[8]
lkoZtfud O;; dk mRiknu ij D;k izHkko gS \

5. What is deficit financing ? Explain the effects of deficit
financing on developing countries. [8]
?kkVs dh foÙk&O;oLFkk dk vFkZ D;k gS \ ?kkVs dh foÙk&O;oLFkk dk

izHkko fodflr gksus okys ns'kksa ij le>kb,A

UNIT-III @ bdkbZ&III
6. Explain the Goods and Service Tax (GST) and elucidate

[P.T.O.]
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Question Paper Code : 1060
B.A. (Part-III) Examination, 2018

ECONOMICS
[ First Paper  ]

( History of Economic Thought )
Time : Three Hours] [Maximum Marks : 50

Note : Attempt one question from each of the four units.
Questions No.1 is compulsory. Answer five questions
in all. Marks are indicated against each questions.
pkj bdkb;ksa esa ls izR;sd bdkbZ ls ,d iz'u dhft,A iz'u la-

1 vfuok;Z gSA dqy ik¡p iz'uksa ds mÙkj nhft,A izR;sd iz'u ds

vad mlds lkeus fufnZ"V gSaA

1. Explain briefly the following : [2x10=20]
fuEukafdr dh laf{kIr O;k[;k dhft, %

(a) Importance of study of history of economic
thought
vkfFkZd fopkjksa ds bfrgkl ds v/;;u dk egÙo

[P.T.O.]
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(b) Gandhiji's principle of Trusteeship
xk¡/khth dk U;kWl dk fl)kUr

(c) Adam Smith's ' Invisible hand'
,Me fLeFk dk ^vǹ'; gkFk*

(d) Smith's canons of taxation
fLeFk ds djk/kku d¢ fl)kUr

(e) Ricardo's views on machinery
;=hdj.k ij fjdkMksZ ds fopkj

(f) Causes of downfall of classical system
izfrf"Br iz.kkyh ds iru ds dkj.k

(g) Menger's classification of goods
east+j dk oLrqvksa dk oxhZdj.k

(h) Marx's views on population
tula[;k ij ekDlZ ds fopkj

(i) Bohm Bawerk's theory of interest
ckWe ckodZ dk C;kt dk fl)kUr

(j) Main contribution of J.S. Mill in economics.
ts-,l- fey dk vFkZ'kkL= esa izeq[k ;ksxnkuA
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UNIT-I @ bdkbZ&I
2. Write short notes on the following : [8]

fuEufyf[kr ij fVIif.k;k¡ fyf[k, %

(a) Mercantilist view on international trade
vUrjkZ"Vªh; O;kikj ij of.kdoknh fopkj

(b) Mercantilist view on population
tula[;k ij ij of.kdoknh fopkj

(c) Sterile class of physiocrats
iz—frokfn;ksa dk vuqRiknd oxZ

3. Give a critical appraisal of economics of Kautilya. [8]
dkSfVY; ds vFkZ'kkL= dh vkykspukRed O;k[;k dhft,A

UNIT-II @ bdkbZ&II
4. Examine Adam Smith's contribution regarding : [8]

fuEu ds lanHkZ esa ,Me fLeFk ds ;ksxnku dk fo'ys"k.k dhft, %

(a) Theory of value
ewY; dk fl)kUr

(b) Division and specialization of labour
Je dk foHkktu o fof'k"Vhdj.k

[P.T.O.]
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5. Discuss Ricardo's contribution to the theory of
distribution of national income. [8]
jk"Vªh; vk; ds forj.k ds fl)kUr esa fjdkMksZ ds ;ksxnku dh

ppkZ dhft,A

UNIT-III @ bdkbZ&III
6. Examine Say's law of markets. Compare Say's views to

Malthus's views regarding over-production. [7]
^ls* ds cktkj ds fu;e dh foospuk dhft,A ^vfrmRiknu* ds

lEcU/k esa ^ls* ds fopkjksa dh rqyuk ^ekYFkl* ds fopkjksa ls

dhft,A

7. Elucidate Marx's views regarding : [7]
ekDlZ ds fopkj fuEu ds fo"k; esa Li"V dhft, %

(a) Labour theory of value
ewY; dk Je fl)kUr

(b) Class struggle
oxZ la?k"kZ

UNIT-IV @ bdkbZ&IV
8. Discuss Jevon's contribution to history of economic

thought. [7]
1060/4000 (  5  )

vkfFkZd fopkjksa ds bfrgkl esa tsoUl ds ;ksxnku dh ppkZ

dhft,A

9. Discuss Marshall's views regarding : [7]
fuEu ds fo"k; esa ek'kZy ds fopkjksa dk fo'ys"k.k dhft, %

(a) Elasticity of demand
ek¡x dh yksp

(b) Quasi-rent
vkHkkl yxku

(c) Representative firm
izfrfuf/k QeZ

-----x-----
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Question Paper Code : 1061
B.A. (Part-III)  Examination, 2018

ECONOMICS
[ Second Paper  ]

( Economics of Growth & Development )
Time : Three Hours] [Maximum Marks : 50

Note : Attempt one question from each of the four units.
Questions No.1 is compulsory. Answer five questions
in all. Marks are indicated against each question.
pkj bdkb;ksa esa ls izR;sd bdkbZ ls ,d iz'u dhft,A iz'u la-

1 vfuok;Z gSA dqy ik¡p iz'uksa ds mÙkj nhft,A izR;sd iz'u ds

vad mlds lkeus fufnZ"V gSa A

1. Explain briefly the following : [2x10=20]
fuEufyf[kr dh la{ksi esa O;k[;k dhft, %

(a) Basic needs approach to economic development
vkfFkZd fodkl gsrq ekSfyd vko';drkvks a dh

vo/kkj.kk

[P.T.O.]
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(b) Absolute and Relative Poverty
fujis{k rFkk lkis{k fu/kZurk

(c) Physical Quality of Life Index (PQLI)
thou dh HkkSfrd xq.koÙkk lwpdk¡d (PQLI)

(d) Concept of 'Big-Push'
^izcy&iz;kl* dh vo/kkj.kk

(e) Social Dualism
lkekftd }Srokn

(f) Pre-conditions for Take-off
mM+ku@Lo&LQwfrZ dh voLFkk dh iwoZ n'kk,¡

(g) Single factoral and Double factor Terms of Trade
,d lk/kukRed ,oa f}&lk/kukRed O;kikj dh 'krsZa

(h) Objectives of the Twelfth Five Year Plan in India
Hkkjr dh ckjgoha i¡po"khZ; ;kstuk ds mís';

(i) Foreign Direct Investment (FDI)
fons'kh izR;{k fuos'k (FDI)
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(j) Concept of Inclusive growth

lekos'kh fodkl dh vo/kkj.kk

UNIT-I @ bdkbZ&I

2. Define an underdeveloped economy. Describe its basic
characteristics. [8]

,d vYifodflr vFkZO;oLFkk dh ifjHkk"kk nhft,A bldh eq[;

fo'ks"krkvksa dk o.kZu dhft,A

3. Examine the role of economic and non-economic factors
in the economic development of a country. [8]

,d ns'k ds vkfFkZd fodkl esa vkfFkZd o vukfFkZd dkjdksa dh

Hkwfedk dk ijh{k.k dhft,A

UNIT-II @ bdkbZ&II

4. Critically examine Hirschman's Theory of unbalanced
economic growth. Discuss its suitability for
underdeveloped countries. [8]
g"kZeSu ds vlUrqfyr fodkl fl)kUr dk vkykspukRed ewY;kadu

dhft,A vYifodflr ns'kksa ds fy, bldh mi;qDrrk dk foospu

dhft,A

[P.T.O.]
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5. Critically examine Leibenstein's Critical Minimum Effort
Thesis. [8]
yhcsULVhu ds Økafrd U;wure iz;kl fl)kUr dk vkykspukRed

ewY;kadu dhft,A

UNIT-III @ bdkbZ&III
6. Analyse the increasing inequality in the distribution of

income amongst nations and people in the world. [7]
fo'o ds ns'kksa vkSj O;fä;ksa ds chp vk; forj.k dh c<+rh gqbZ

vlekurk dh O;k[;k dhft,A

7. What do you understand by Human Development ? In
this context discuss Human Development Index (HDI).

[7]
ekuo fodkl ls vki D;k le>rs gSa \ bl lUnHkZ esa ekuo

fodkl lwpdk¡d (HDI) dh O;k[;k dhft,A
UNIT-IV @ bdkbZ&IV

8. Distinguish between Physical and Financial Planning.
Give an outline of the pattern of finance of India's Five
Year Plans. [7]

1061/4000 (  5  )

HkkSfrd rFkk foÙkh; fu;kstu esa vUrj dhft,A Hkkjr dh

i¡po"khZ; ;kstukvksa ds foÙkh;u izk:i dh :ijs[kk izLrqr dhft,A

9. Discuss the scope and limitations of south-south
cooperation. [7]
nf{k.k&nf{k.k lg;ksx dh lEHkkoukvksa ,oa lhekvksa dh O;k[;k

dhft,A

----- x -----
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Question Paper Code : 1063
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( Environment & Resource Economics 
Time : Three Hours] [Maximum Marks : 50

Note : Answer five questions in all. Questions 
compulsory. Besides this, attempt one question from
each unit. Marks are indicated against each question.
dqy ik¡p iz'uksa ds mÙkj nhft;sA iz'u la[;k&1 
blds vykok izR;sd bdkbZ ls ,d iz'u dhft;sA izR;sd iz'u ds

vad mlds lkeus bafxr gSaA

1. Write short notes on the following : [2x10=20]
fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(a) Segments of environment
i;kZoj.k ds laHkkx



(  2  )

Economic activities affecting environment
i;kZoj.k dks izHkkfor djus okyh vkfFkZd xfrfof/k;k¡

Differentiate between public goods and private
goods
lkoZtfud oLrq ,oa futh oLrq esa Hksn dhft;sA

Differentiate between high entraopy material and
low entropy material
mPp ,UVªkih inkFkZ ,oa fuEu ,UVªkih inkFkZ esa Hksn

dhft,

Environmental values
i;kZoj.kh; ewY;

Resource Scarcity
lalk/ku nqyZHkrk

e-waste
bZ&vif'k"V

Rural Environmental Problems
xzkeh.k i;kZoj.kh; leL;k;sa
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(i) Water resource management
ty lalk/ku izca/ku

(j) Concept of Sustainable Development
iks"k.kh; fodkl dh vo/kkj.kk

UNIT-I @ bdkbZ&I
2. Economic growth and environmental balance do not go

together. Justify this statement.
vkfFkZd lao`f) ,oa i;kZoj.kh; larqyu lkFk ugha pyrsA bl

oDrO; dh izklafxdrk fl) dhft,A

3. Mention two very important common property resources
in India. What measures would you recommend to
preserve and protect them ?
Hkkjr esa miyC/k nks izeq[k lkeqnkf;d laink lalk/ku crkb;sA

buds laj{k.k ,oa lqj{kk ds fy, vki D;k mik; lq>k;saxs \

UNIT-II @ bdkbZ&II
4. What are environmental costs of economic growth ?

Discuss Sustainable measures to reduce environmental
costs.
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vkfFkZd laof̀) dh i;kZoj.kh; ykxr D;k gS \ i;kZoj.kh; ykxr

dks de djus dh iks"k.kh; mik;ksa dh foospuk dhft,A

Write notes on the following : [8]
fuEufyf[kr ij fVIif.k;k¡ fyf[k;s %

Material Substitution
inkFkZ izfrLFkkiu

Product life extension
mRikn thou foLrkj

Recycling of waste
vif'k"V ifj'kks/ku

Pollution Tax
iznw"k.k dj

UNIT-III @ bdkbZ&III
Examine the environmental consequences of pollution
and suggest remedial measures. [7]
iznw"k.k ds i;kZoj.kh; nq"izHkkoksa dk ijh{k.k dhft, ,oa blds

jksdFkke ds mik; lq>kb,A
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7. Discuss the pros and cons of nuclear way of generating
energy in India.
Hkkjr eas vk.kfod fof/k ds ek/;e ls ÅtkZ mRiknu ls gksus okys

ykHk ,oa gkfu dh ifjppkZ dhft,A

UNIT-IV @ bdkbZ&IV
8. Critically evaluate India's environmental policy.

Hkkjr dh i;kZoj.kh; uhfr dk Økafrd ewY;kadu dhft,A

9. Discuss the impact of agriculture on environment.
i;kZoj.k ij —f"k ds iM+us okys izHkko dh foospuk dhft,A

----- x -----


